

DMC No. 000001
Roll No. 22255008
Regn. No. 22-DEO-108

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF COMMERCE SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : HABUMUGISHA HERBERT
Father's Name : SEBUHINJA DAVID
Mother's Name : NYIRABAKUNZI FLORA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|---|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | B23-COM-501 COST ACCOUNTING | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | B23-COM-502 GST & CUSTOM LAWS | 51 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | B23-COM-503 INDUSTRIAL LAWS | 54 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | B23-VOC-126 CREATIVITY & ADVERTISING | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS | 30 15 | 20AG | 050 | O | 10 | 02.0 | 20.0 |
| 6 | B23-VAC-324 GENDER SENSITIZATION | 30 14 | 20AG | 050 | O | 10 | 02.0 | 20.0 |
| | TOTAL | 0369 | | 0500 | | | 20.0 | 164.0 |
| | GRAND TOTAL | 0369 | | 0500 | | | 20.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

DATED : FEB 05,2026
KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
Roll No. 22255012
Regn. No. 22-DEO-112

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF COMMERCE SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : STEVE KAIMA
Father's Name : 0
Mother's Name : 0
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|---|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | B23-COM-501 COST ACCOUNTING | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | B23-COM-502 GST & CUSTOM LAWS | 51 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | B23-COM-503 INDUSTRIAL LAWS | 43 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | B23-VOC-126 CREATIVITY & ADVERTISING | 55 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 5 | B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS | 32 13 | 20AG | 050 | O | 10 | 02.0 | 20.0 |
| 6 | B23-VAC-324 GENDER SENSITIZATION | 31 14 | 20AG | 050 | O | 10 | 02.0 | 20.0 |
| | TOTAL | 0376 | | 0500 | | | 20.0 | 172.0 |
| | GRAND TOTAL | 0376 | | 0500 | | | 20.0 | 172.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : FEB 05,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000003
Roll No. 23155002
Regn. No. 23-DEO-52

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF COMMERCE SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : RAJAT
Father's Name : BALBIR SINGH
Mother's Name : SANTOSH DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|---|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | B23-COM-501 COST ACCOUNTING | 49 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | B23-COM-502 GST & CUSTOM LAWS | 53 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | B23-COM-503 INDUSTRIAL LAWS | 51 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | B23-VOC-126 CREATIVITY & ADVERTISING | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 5 | B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS | 31 7 | 20AG | 050 | A+ | 9 | 02.0 | 18.0 |
| 6 | B23-VAC-324 GENDER SENSITIZATION | 20 8 | 20AG | 050 | B+ | 7 | 02.0 | 14.0 |
| | TOTAL | 0345 | | 0500 | | | 20.0 | 164.0 |
| | GRAND TOTAL | 0345 | | 0500 | | | 20.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

DATED : FEB 05,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000004
Roll No. 23155003
Regn. No. 23-DEO-53

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF COMMERCE SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : PULKIT DIWAN
Father's Name : SUNIL DIWAN
Mother's Name : NEERU DIWAN
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|---|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | B23-COM-501 COST ACCOUNTING | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | B23-COM-502 GST & CUSTOM LAWS | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | B23-COM-503 INDUSTRIAL LAWS | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | B23-VOC-126 CREATIVITY & ADVERTISING | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 5 | B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS | 31 8 | 20AG | 050 | A+ | 9 | 02.0 | 18.0 |
| 6 | B23-VAC-324 GENDER SENSITIZATION | 33 8 | 20AG | 050 | A+ | 9 | 02.0 | 18.0 |
| | TOTAL | 0398 | | 0500 | | | 20.0 | 180.0 |
| | GRAND TOTAL | 0398 | | 0500 | | | 20.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : FEB 05,2026
KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000005
Roll No. 23155004
Regn. No. 23-DEO-54

RESULT-cum-DETAILED MARKS CARD
BACHELOR OF COMMERCE SEM-05 EXAM : JUN- 2025
(CBCS-CDOE)

Name : ARMAAN SINGH VIRK
Father's Name : BALHAR SINGH VIRK
Mother's Name : NEELAM
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|---|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | B23-COM-501 COST ACCOUNTING | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | B23-COM-502 GST & CUSTOM LAWS | 58 8 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | B23-COM-503 INDUSTRIAL LAWS | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | B23-VOC-126 CREATIVITY & ADVERTISING | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 5 | B23-VAC-322 SUSTAINABLE DEVELOPMENT GOALS | 33 7 | 20AG | 050 | A+ | 9 | 02.0 | 18.0 |
| 6 | B23-VAC-324 GENDER SENSITIZATION | 32 7 | 20AG | 050 | A+ | 9 | 02.0 | 18.0 |
| | TOTAL | 0368 | | 0500 | | | 20.0 | 172.0 |
| | GRAND TOTAL | 0368 | | 0500 | | | 20.0 | 172.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : FEB 05,2026
KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS